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BIOLOGY SSC-l
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B / C / D. Each part carries one mark.

(i) Microscopic study of tissues is called ;

A. Cell Biology B. Physiology C. Histology D. Morphology
(ii) Which organelle prepares protein?

A. Vacuole B. Centrosomes C. Golgi-bodies  D. Ribosomes

(iii) During which phase of cell division do the chromosomes arrange themselves on the equator
of the spindle forming an equatorial plate?

A, Prophase B. Metaphase C. Anaphase D. Telophase
(iv) Protozoa are placed in kingdom in five kingdom system?
A. Monera B. Plantae C. Protista D. Fungi
(v) Which of the following diseases is NOT caused by bacteria?
A Yellow fever  B. Anthrax C. Pneumonia D. T.B
(vi) Penicillium fungus is an example of .
A. Zygomycetes B. Ascomycetes C. Basidiomycetes D. Imperfect fungi

(vii) The following diagram shows the structure of Virus. Which part of this diagram is named as DNA?

c— A
U B.
D.—

(wviii) Mosses are closest to .

A Ferns B. Gymnosperms C. Liverworts D. Angiosperms
(ix) Which of the following statements is NOT TRUE for gymnosperms?

A At present they are the most dominant plants on land

B. They show secondary growth

C. They have vessels in their xylem

D. They are usually found in plains
(x) Which of the following is the phylum of Jelly-fish? ,

A. Echinodermata B. Mollusca C. Arthropoda =~ D. Coelenterata’
(xi) Which of the following animals is an example of egg laying mammals?

A. Spiny ant-eater B. Kangaroo C. Bat D. Dolphin
(xii) Scurvy is a disease caused by a lack of ;

A Vitamin A B. Vitamin K C. Vitamin B D. Vitamin C

For Examiner’s use only:

Total Marks: [12 ]
Marks Obtained: ]
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BIOLOGY SSC-I

(L Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
()] Write down the names of the authors of the following books:

(a) Al-Wahoosh (b) Al-Manazir (c) Al-Qanoon Fil Tib (1+1+1=3)

(i) Write three salient features of the cell theory presented by Schleiden and Schwann, (03)

(i) Write a short note on Mitochondria. (03)

(iv) Give any three differences between Mitosis and Meiosis. (03)

(iv) Write down the names of parts labelled A, B and C in the following diagram, on your
answer book: : 7 g (03)

(vi) Keeping in view the biological classification of human being, answer the following:

(a) What is the biological name of human being? (01)
(b) Write the name of the order of Man. (01)
(c) What is the phylum of Man? (01)
(vii) How many types of bacteria on the basis of shape and form are there? Also write their names.  (03)
(viii)  Name the types of thallus in Algae. (03)
(ix) Name the basic groups of Mammals. (03)
(x) (a) Define Hibernation (b) Name any four warm-blooded animals. (1+2=3)
(xi) Write down the names and effects of any three harmful chemicals present in cigarette smoke (03)
(xiiy  Give one example of each of the following carbohydrates:
(a) Monosaccharides (b) Disaccharides (c) Polysaccharides (1+1+1=3)
(xiii)y (&) Give the chemical equation of Photosynthesis. (02)
_ (b) What does NADPH stand for? (01)
(xiv)  What are Mechanical Digestion and Chemical Digestion? ‘ (03)
(xv)  Write briefly about Muscle Fatigue. ' (03)
SECTION - C (Marks 20
Note: ~ Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 (a) Explain the terms Control group and Experimental grdup, (2)
(b) Explain the Male and Female reproductive systems of Frog with the help of diagrai'ns. (8)
Q.4 (a) Name the units of classification in correct order. (4)
(b) What is meant by Binomial Nomenclature? Describe its rules and significance. ' (4)
- () Which diseases are caused by Viruses and Bacteria in man? Name any two diseases of each. (2)
Q5 (a) What is the difference between Tap-root and Adventitious-root? (2)
(b) Draw human tooth and label its different parts. (4)
(c) What changes occur in intercostals muscles and diaphragm during inspiration and expiration?  (4)
—— 1SA-1110 (L)——
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CHEMISTRY SSC-I
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C | D. Each part carries one mark.
(i) Aqua Regia (Royal water) was prepared by
A Jabir bin HaiyanB. Bu Ali Sina C. Al-Razi D. None of these

(ii) Which of the following quantities will contain a mole of oxygen gas?
A 14 g of CO B. 28 g of CO C. 16 g of O, D. 32 g of Oxygen gas

(i) Which of the following pairs of atoms forms a pure covalent bond?
A Sodium and Chlorine B. Hydrogen and Chlorine
C. Hydrogen and Oxygen D. Chlerine and Chlorine

(iv) The maximum number of electrons which can be accommodated in the L-shell of an atom is
A. 6 B. 8 C. 32 D. 18

(v) The colour of the hair of different people differs due toithe presence of in them,
A Metals B. Non-metals
C. Radioactive elements D. Transition elements

(i) Covalent compounds
A, Have high melting and boiling points B. Are neutral in nature
C. Are less soluble in water D. Are highly soluble in water

(vii) Which is a sublime solid?

A. Carbon B. Naphthalene C. Sodium D. Sulpher
(vii)  The movement of molecules form a higher concentration to a lower concentration is called
A Diffusion B. Hydration
C. Brownian movement D. Hydrogen bonding
(ix) O°C temperature of water is called its ;
A Melting point  B. Boiling point  C. Freezing point D. Both A and C
(x) Heat of reaction is
A The heat evolved during a chemical reaction
B. The heat absorbed during a chemical reaction )
C. The heat evolved or absorbed during a chemical reaction taking place at constant pressure
D. The heat evolved or absorbed during a chemical reaction taking place at any pressure
{xi) Which of the following is the electrolyte used in silver plating?
A. Solution of Potassium argento cyanide B. Pure silver
C. Silver cyanide D. Silver nitrate

(xi)  Formic acid is present in

A.  Lemon B. Vinegar

C. Sour milk D. Stings of insects like bees
For Examiner’s use only:

Total Marks:

[12 ]
Marks Obtained: ’__:l
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CHEMISTRY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2  Answer any ELEVEN parts. The answer to each part should note exceed three to four lines.
(11x3=33)
(i) What facilities are provided by chemistry to mankind?

(i) Explain why?
(a) Metals are good conductors of electricity.
(b) High pressure changes the shapes of metals.
(c) Melting and boiling points of metals are usually very high.
(1) When an electric current is passed through water:
(a) Which gas is obtained on cathode?
(b) Which gas is obtained on anode?
(c) Why are a few drops of an acid added to the water?
(iv) What are Isotopes? Also draw and name the Isotopes of Hydrogen.
(v) What do you mean by electron affinity? Also state its trends in periodic table with reference to groups and

periods.
(vi) What are Dipole —Dipole forces? Explain with the help of an example.
(vi)  Why does ice float on the surface of water? Also tell why fish remain alive throughout the year in water.

(viii)  State Mendeleev's periodic Law. What was the defect in it? How was this defect removed later on?

(ix) How is a covalent bond formed? Also write two properties of covalent compounds.

(x) 0.1978g of copper is obtained on electrolyzing copper salt solution for 5 minutes using 2 ampere current .
Calculate the electrochemical equivalent of copper.

(xi) What is a Pacemaker? What purpose is it used for?

(xif) Write down the formula for sodium carbonate. Also state its two uses.

(xiii)  What are the Exothermic and Endothermic reactions? Give one example of each,

(xiv)  Complete and balance the following chemical equations:

(a) A!(s} +0, —

2!9!

(b) Na{s, -+ Hzom—)

(c) BaCIz[m +K2304w;~—>
(xv) Define the following:
(a) Inorganic chemistry
(b) Organic chemistry
(c) Analytical chemistry
SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x 10 = 20)

Q.3  Differentiate between the Natural and Artificial radioactivity. Also state any two properties of each & |
p and y-rays.
Q.4 Whatis a Solution? Also explain the factors affecting the solubility of a solute.

Q.5  Describe the construction and working of a dry cell and lead storage battery. Also give their uses in

everyday life.
—— 1SA-1108 (L) ——
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Sig. of Candidate. Sig. of Invigilator.
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COMPUTER SCIENCE SSC-I
SECTION — A (Marks 12

Time allowed: 20 Minutes

NOTE:- Section-A is compuisory. All parts of this section are to be answered on the question paper itself. It
should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
(i Which of the following is NOT a high level language?

A. BASIC B. COBOL
C. ASSEMBLY D. FORTRAN
(ii) A computer program written by a programmer in a language other than the machine language is
called a /an
A Source Program B. Object program
C. Machine Code D. None of these
(iii) The brain of an electronic computer is its
A Random Access Memory (RAM) B. Central Processing Unit (CPU)
C. Serial Port D. Read Only Memory (ROM)
(iv) A 16 bit data bus can transfer bytes at a time.
A. Four B. Sixteen C. Six D. Two
(v) Which of the following is an output device?
A. Printer B. Mouse C. Scanner D. Trackball
(i) A trackball is almost like a turned upside down.
A. Monitor B. Microphone C. Keyboard D. Mouse
(vii) A byte is a group of bits.
A Four B. Eight C. Sixteen D. Two
(viii) size is the number of bits a microprocessor can manipulate at one time.”
A Byte B. Kilobyte C. Word D. None of these
{ix) Which internal DOS command is used to clear the screen?
A. CLS B. COPY C. REM D. CLEAR
(x) DOS commands are stored in the COMMAND.COM file.
A External B. Internal C. BothAandB D. None of these
(xi) button activates the main menu of windows known as the Start Menu.
A. Help B. Open C. Title bar D. Start
(xii) In MS Word, pressing CTRL+U will cause y
A. To open the View Menu B. To underline the selected text
C. To cut the selected text D. None of these

For Examiner’s use only:

Marks Obtained:

Total Marks:
[ ]

— 18A-1111-—
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COMPUTER SCIENCE SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE:- Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 27)

Q.2 Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines each. (9x3=27)

(i) What are the Hybrid Computers?

(ii) Write a short note on the Supercomputer.

(iii) What is the impact of Internet on society?

(iv) Describe briefly the functions of the ALU.

(v) What is meant by ‘Bus’ in a computer system? Write briefly about the Address Bus.

(vi) Write briefly the functions of the Parallel ports in computers.

(vii) What is meant by ‘Voice Recognition'?

(vii)  Differentiate between Impact Printers and Non-Impact Printers.

(ix) Differentiate between Sequential Access Storage and Direct Access Storage.

(x) State the function of the following DOS Commands:

(a) TIME (b) FORMAT (c) DELTREE

(xi) What is meant by ‘Word Processing'?

(xii) Differentiate between SIMMs and DIMMs.

(xii)  What is meant by Soft copy and Hard copy.

SECTION ~ C (Marks 16)

Note: Attempt any TWO questions. Each question carries equal marks. (2x8=186)
Q3 a What is a Computer Virus? Describe the effects it can produce on a Computer System. (4)

b. What measures can be taken to protect against the threat of viruses? (4)
Q.4 What do you know about System software? Also expiain different types of System Software. (8)
Q.5 Discuss the use of Magnetic Disks in Computers. Also explain the working of Floppy disks

and Hard disks. (8)
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ratho. [ [ [ [ [ [ ] Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

ENGLISH COMPULSORY SSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) said that he was not allowed to boast of his wealth and status.
A Hazrat Salman Farsi (RA) B. Hazrat Abdullah bin Umar (RA)
C. Hazrat Zaid bin Harris (RA) D. Hazrat Imam Hassan Basri (RA)
(i) Hazrat Muhammad (PBUH) allowed to brand the animals on its in extreme necessity.
A Face B. Back C. Legs D. None of these
(i) During his lifetime as a Muslim Hazrat Khalid bin Waleed (RA) took part in more than expeditions.
A. 20 B. 33 C. 21 D. 63
(iv) The cleaning of houses on the New Year's Day is considered ;
A A bad omen B. A sign of good luck
C. Good for health D. Dull
(v) The angel wrote the name of Abou ;
A At the bottom of the list B. In the middle of the list
C. On the top of the list D. In his book
(vi) The most dangerous and difficult to control is s
A. Noise pollution B. Air pollution C. Land poliution D. Water pollution
(vii) What number is dialed to book telegrams on phone?
A 118 B. 119 c. 116 D. 117
(viii)  Choose the correct spelling:
A, Manefestation B. Manifestation C. Mainefestation D. Mainifestation
(ix) A sentence that makes a statement is called a /an )
A Exclamatory sentence B. Declarative sentence
C. Assertive sentence D. Both B and C
(x) An adverb is a word used to add something to the meaning of a /an .
A. Adverb B. Adjective C. Verb D. All of these
(xi) Choose the correct tense. Did you think you me somewhere before.
A Saw B. Have seen C. Had seen D. Were seeing
(xii) “| know better.” What is the underlined word in grammar?
A An Adjective  B. An Adverb C. A Noun D. A Verb
(xiil)  "Rebecca was taught deceit to shun”. Which of the following words can replace the underlined word?
A, Ability B. Honesty C. Bravery D. Cheating
(xiv)  There is still no cure the common cold. Choose the appropriate preposition.
A In B. Off C. For D. Of
(xv) Which of the followings is NOT a sentence?
A Show me how to do it B. We cannot pump the ocean dry
C. Away from bad company D. Edison invented the phonograph

For Examiner's use only:

Total Marks: | 15
Marks Obtained: l:l
e 18A-1101 (L) =
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ENGLISH COMPULSORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions from Sections ‘B’ and ‘C' on the separately provided answer book.
Use supplementary answer sheet i.e. Sheet--E if required. Write your answers neatly and legibly.

SECTION - B (Marks 39)

Q.2 Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)
(i) What did happen when Hazrat Khalid bin Waleed (RA) realize that Hazrat Muhammad (PBUH) preached
the true religion of Islam?
(ii) What did uncle Jameel tell Hamid about the urban life?
(iii) What are the jobs done by the rural woman?
(iv) What is the contribution of Greeks in the development of sports?
(v) Who are drones?
(vi) What becomes of the rain when it has fallen down on the earth?
(vii) Why should we not eat uncovered things?
(vii)  What is the importance of the traffic lights?

Q.3 A Paraphrase any ONE of the following stanzas: (03)
(i) Yet, of the dark | have no fear, (i)  The angel wrote and vanished. The next night,
But feel as safe as when it's light; It came again with a great wakening light,
For | know God is with me there, And show'd the names whom love of God had blest,
And He will guard me through the night. And Lol bin Adhem's name led all the rest.
B. Read the following stanza carefully and answer the questions given at the end: (08)

Continuous as the stars that shine,

And twinkle on the Milky Way,

They stretched in never-ending line,

Along the margin of a bay

Ten thousand saw | at a glance,

Tossing their heads in sprightly dance.

Questions:

(i) List the qualities of the stars can be found in the daffodils.
(ii) What were the daffodils doing?

(iii) What does it mean by the word, 'sprightly'?

Q.4 Change the voice of any FOUR of the following sentences: (04)
(i) The dog was teased by the boy.
(i) The hunter shot the lion.

(iii) People will soon forget it.

(iv) We do not like boxing.

(v) Do not insult the weak.

(i) Why should | be suspected by you?

(vii) My pocket has been picked by some one.

Q.5 Use any FOUR of the following phrasal verbs in sentences: (04)
(i) Bring about (i) Cut off (iii)y Carry on (iv) Set off
(v) Come to {vi) Agree to (vii) Work out

Q.6 Punctuate and capitalize the following para /line(s): (04)

while we were on a journey in the company of hazrat muhammad (saw) we saw two young doves sitting in a
nest we caught the young baby birds when their mother retuned to the nest she began to fly wildly round the

nest
SECTION - C (Marks 21
Q.7  Write a letter to your brother advising him to take steps to improve his health. (08)

-OR-
Write a letter to your friend thanking him for the books he lent to you.

Q.8  Write a paragraph of about 50 to 70 words on “An Industrial Exhibition” with the help of the following
word bank: (08)

Textile and garments — factory rate — machines — entertainment — informatory — elegant — reasonable -
household items — display — brightly lit — manufacturers.

Q.9 Translate any FIVE of the following sentences into English: (05)
udnsp i) ~Lunesgdoe e () -u_:_.;_;fu?-iw:-!m{;gﬁ ()

s Ser S Sy (Vi) - Ty () BRI A ()
PGS fond e LTLLE (Vi

-OR-
Write a dialogue between a villager and an urban man discussing the advantages of rural and urban life.

_ —— 1SA-1101 (L) —
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Roll No. | ‘ | J [ | | Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

ISLAMIYAT COMPULSORY SSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.
A g2t - -
(i) Whatdoes ()@ f)*ﬁ #.52 mean?

A. Day of sorrow B. Day of Happiness

C. Day of Discrimination D. Eid day
(i)  Whatdoes U mean?

A C1ean|siness B. Goodnesss C. Impurity D. Purity
(i)  Whatdoes &3 mean?

A, Enemy B. Miser C. Coward D. Brave

(iv)  Which surah has the given verse been taken from BE e s 83 3SR S) ?
A Al-Mmtahanah B. Al-Bagarah C. Al-Ahzaab D. Al-Anfal

(v) What does & ":) mean?

A Guard B. Believer C. Angel D. Thief
(vi) Bribery becomes common in any nation, when is demolished.

A Fear B. Cruelty and violence

C. Justice D. Wisdom
{vii) A man is good among people, who gives to people.

A Goodness B. Profit C. Loss D. Money
(vii)  For what reason will Allah give loftiness to many nations?

A Al-Hadith B. Al-Quran C. lima D. Qiyas
(ix) How many uses (disposals) of Zakat have been described in the Holy Quran?

A 8 B. 5 C. 4 D. 6
(x) The literal meaning of < _)HL is .

A Cleanliness B. To purify C. To take bath  D. Ablution
(xi) “If you give thanks,| will give you more."” The given statement isa

A Verse B. Hadith

C. Saying of Hazrat Abu Bakr (RA) D. Saying of Hazrat Ali (RA)
(xii) What is the literal meaning of Jihad?

A To murder B. Struggle and Hard work

C. Quarrel D. None of these
(xiii)  The objective of creation of man is to .

A Worship Allah  B. Rule the people C. Collect wealth D. Enjoy and make merry
(xiv) How many steps are obligatory in ablution?

A 6 o, ,a? B. 5 C. 4 D. 3
(xv)  What does &9 mean?

A, Woman B. Unsafe / open C. Man D. Girls

For Examiner’s use only:

Total Marks: EI
]

Marks Obtained:

—— 18A-1105—
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ISLAMIYAT COMPULSORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 38)

Q.2 a. Translate any TWO of the following Quranic Verses: (2x4=8)
" y e 7 pa
O"Méﬁmwﬁiuuiwidu A.L'lo\f? :\'.'1'- “3:_,) A....nga‘:i‘_sr.;” o (1)

otzsealsseievts i sl @t s b L phaaands - W
Lf..’u (1)

!
e

GJa/f.Jf(} J \Sg.;— f’uaj:dq.:_éjb

b. In the Quranic Verses and their translation given below write in detail the meanings of
any FOUR underlined words: (4 x 2=8)
& 22 a Mre

ol '”JS.-”;LL..J\ Lﬁ;ﬂ)ijGjbg.U\Mw\u! [EFY A.ﬁl....llﬁ,sduu._).l._-.a (i)

Translation:
Men ask you of the Hour Say: The knowledge of it is with Allah only. What can convey
(the knowledge) unto yau? It may be that the Hour is near.

-, — A -
00) /’),f’ t” ’&” ' I LTTIE] rr 22 " 2 )\:'F’

’ 1 /af':) .
3‘)‘ }’_ :.,_.\.nu L-j {(m

Translation:
Your ties of kindred and your children will avail you naught upon the Day of Resurrection.
He will decide between you. Allah is seer of what you do.

c. Write short answers to any SIX of the following questions: (6 x2=12)
(i) What is the method of taking bath?
(ii) What orders and manners have been given to the wives of the Holy Prophet (PBUH) in

Surah Al-Ahzaab?

(i) What order has been given about distribution of hooty in surah Al-Anfal?

(iv) What does Migration mean?

(v)  Whatis meantby <19l ) & 2

(vi) How have the people who leap over the necks of others during the Friday prayer been
condemned in Hadith?

(vi)  What is the literal meaning of =& 2

Q.3 Translate and explain any TWO of the given Ahadith and describe how they are related to
our practical life: (2x5=10)

O GBI S 0
P o gaFe Bl 3oty B3 =
,qc_z:—wwa'-,.w,iw}rf.u-'.yﬁ'ﬂ (1)

LR ANy RS S

SECTION — C (Marks 22)
Note: Attempt any TWO questions. Each question carries equal marks. (2 x 11 =22)

Q.4 How many ways are there to express thanks to Allah? What its importance according to Quran and Hadith?
Q.5 Write a comprehensive note on the preservation (safeguard) and merits of the Holy Quran.
Q.6 Explain the importance and uses (<iJwa<)of Zakat in the light of Quranic teachings

—— 18A-1105-—
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R Roil No. T T T 1 1] AENERERS S
)

Sig. of Candidate. Sig. of Invigilator.

MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Maths Annual 2011

Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.
(i) The domain of R ={(1,2),(2,3),(0,4)} is :

A {234} B. {120} c. {123} D. {134}
(ii) Point (1,—2) lies in the quadrant .

A v B. I C. 1 D. |
(iii) The number 7 used in the circumference and area of circle isa/ an number.

A Real number B. Whole number

C. Irrational number D. Rational number
(iv) There exist a closure property w.r.t in {0,1}.

A Division B. Multiplication  C. Subtraction D. Addition
(v) Aljabar-wal-Mugabla has been written by .

A Jobst Burgi B. John Napier C. Al-Khwarizmi  D. Henry Briggs
(vi)  The standard form of2.35x10%is

A. 1000 B. 700 C. 0.0235 D 500
(vii) (x-6)(x—-4)= .

A. x2-10x +24 B. x2+10x - 24

Bl x*-10x-24 D. x?2+10x +24
i) (7-v2) (7+v2)=

A 48 B. 36 C 25 D 45
(ix)  What will be the factorization of 3x* — x -2

A. (x-1(3x-2) B. (x=1)(3x+2)

C. (x +1)(3x+2) D. (x+1)(3x-2)
(%) What will be added to 9a* —12ab to make it a complete square?

A. —-16b* B. 16b* C. 4b* D. 6
i) ” X 3 6 3 "
Xi = , then X =

3 5 3 5

A. 0] - B 3 C 5 D. 6
(xii) ifa=b ,b=a . hen a=c.ltiscalled

A Postulates B. Axiom C. Given D. None of these
(xii)  The diagonals cf a parallelogram each other.

A. Are parallel to B. Are congruent to

C. Bisect at right angle - D. Bisect
(xiv)  There are basic elements of triangle.

A. Six B. Five C. Four D. Three
(xv) If a transversal cuts two parallel lines, the pairs of corresponding angles so formed are in

number.

A. Five B. Four C. Three D. Two

For Examiner’'s use only:

Total Marks: 15
Marks Obtained: |:]
~—— 1SA-1109 (L) -
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Answer Sheet No.

SIQ of Invng:lator
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MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 36)
Q.2 Answer any TWELVE parts. All parts carry equal marks. (12x3=36)
(i) Find the value of xand y if (x -2, 2)=(4,y +1)
(i) If A={123}andB={2,3,4} then write a binzry -elation R in A and for A x B when
R={(x,y)xe AryeBnay>x}

@iy  Simplify: +/(=xyz)*
xb}%c (xc]}/ac [xa}}éb
x| — x| = :

(iv) Simplify: (—E b x=0
X

3 X
(v) Find the value of x from the following statement; 10g,, 9 = X
(8.97)% x (1.059)°

S7.7
(vii)  What should be added to4x®> —10x* +12x + 6 so that it becomes exactly divisible by 2x+1?
(viiy  For what value of mis X — 5 a factor of the polynomial Bx>- 5x= 16x + m.
(ix)  Findthe value of X* +y* + z*— 3xyz when x> +y*> +2z? =69 and x+y+2z=13.
(x)  Factorize: x* +4
(xij  Factorize : 8x°=6x~ 9y + 27y°
(i)  Find H.C.F by division method 2x°— 9x* + 9x = 7 ; x°= 5x* + 5x—4
(xiil)  Find L.C.M by factorization 1~m? ,1*=m* I1°-m°®

1 2

X2 —3x+2 X°-5x+6 ’ X*—-4x+3

(vi) Evaluate with the help of logarithms.

(xiv)  Simplify:

2 2 .
(xv)  Find the square root of (xz +XLJ —4(:{ +-1—) +12, (x =0)
X

2

4 3 _'4 a "'6 ¢ 1
xvi) IfP= and then prove thatp' =P and Q' =Q
o L; 3} Q[-s a} P 4

(xvi) Use Cramers rule tosolve: 5x+2y = 1 | 3x—y =-4
(xvill) Factorize with the help of factor theorem x* —11x” + 38x — 40

SECTION - C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

(o}
Q.3 Draw altitudes of ALMN in which mZL = 60° ,msM =457 and LM =7.1cm

Q.4 Prove that any point inside an angle, equidistant from its arms, is on the bisector of it.

Q.5 Provethatifin any écrrespondenc:e of two triangles, two angles and one side of a triangle are congruent
to the corresponding two angles and one side of the other, the triangles are congruent.

Q.6 Prove that an exterior angle of triangle is greater in measure than either of its opposite interior angles.

—— 18A-1109 (L) ——-
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Sig. of Candidate. Sig. of Invigilator.

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) The study of the properties of isolated nuclei of the atom is called
A Plasma physics B. Nuclear physics
C. Electromagnetism D. Solid state physics

(ii) What is the radius of the earth?
A. 1.0x10*  B. 69x10° C.  64x10° D 1.0x10™
(iii) When two bodies are in motion then the velocity of one body relative to the other is called

A. Relative velocity B. Uniform velocity

C. Variable velocity D. Average velocity
(iv) The product of mass and velocity of a moving body is called

A. Newton's Second law B. Newton's First law

C. Force D. Momentum

(v) The addition of two or more vectors can be represented by a single vector, which is termed as a
A. Resultant vector B. Negative vector
C. Rectangular component D. None of these

(vi) The rotational effect of a force is measured by a quantity known as

A Momentum B. Torque C. Couple D. None of these
(vi)  An artificial satellite is orbiting around the earth at a height ‘h'. The centripetal force acting on itis
i mv? i mv - mv? 8 2mv
h R+h R+h R+h
(vii)  The product of force and distance covered in the direction of force is called
A Acceleration  B. Power C. Work D. Energy
(ix) What is an effort? .
A A weight lifted by a machine B. Force applied on machine for doing work
C. The ratio of applied force to useful work D. None of these

(x) The force that arises due to the force of friction between different layers of a fluid in flow is called

A Buoyant force B. Viscosity C. Limiting force  D. None of these
(i) Quantity of heat required to convert 1 kg of a liquid to gaseous state at its boiling point is called
A, Latent Heat of fusion B. Latent Heat of Vaporization
C. Convection - D. None of these

(xii) Heat from the sun reaches the earth by
A. Radiation B. Convection C. Conduction D. None of these

For Examiner's use only:
Total Marks: 12
Marks Obtained: ’:!
weeme 18A-1107 (L)
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PHYSICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C' on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11x3=33)

(i) Name any six branches of Physics.

(ii) Write a short note on Screw gauge.

(iii) Differentiate between Distance and Displacement.

(iv) Derive Vv, =V, +at.

(v) If a wooden block of mass 1.5 kg is pushed along a smooth surface of a table with a force of 6N, find
the acceleration of the block.

(i) Wirite down any three methods to reduce friction.

(i) Briefly describe the head to tail rule.

(viiiy  Briefly write about the states of equilibrium.

(ix) Briefly describe the working of dryer of washing machine.

(x) A motor pulls 2000 kg water in one hour from a 50 m deep well. Find the power of the motor.

(i) State the principle of lever.

(xii) Define Surface tension.

(xiil) T.Vannounced 30°C temperature of Lahore. How much temperature would be in Fahrenheit and
Kelvin scales?

(xiv)  Why does tea in a cup become cold earlier ad compared to a teapot?

(xv)  What do you known about the hydraulic press?

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 (a Derive S=vt+ ) at®. : (3)
(b) Explain Newton's Second law of motion with the help of an example. (3)
(c) The mass of an astronaut is 100 kg: (4)
(i) What will be his weight on the earth?
(ii) Find its weight on the moon. The value of gravitational acceleration on the moon is 1.6 ms?
Q.4 (a) State Newton's law of gravitation. How can you find mass of the earth with its help? (4)
(b) Define Centripetal force. (2)

(c) A bowler during playing cricket throws a ball of mass 200 g with a velocity of 20m/s.
Find the kinetic energy of the ball. Also find the amount of work done for throwing the ball

by the bowler. (4)
Q5 (a) What is an Inclined plane? (3)
(b) State Archimedes principle. (3)

(c) A 50 g metal piece at95°C is putin 250 g water at17°C . Final temperature of water

is changed to19.4°C . Find the specific heat of the metal piece. (4)

—— 1SA-1107 (L)—

Physics Annual 2011



N
N
P

53 pruslens> A

- g ) gl S 5

42' 2:40 iy

_qf‘fdfy(z),,a_&j;u:rr 2 71 (1) L B oy gediz KA y.:.wf‘.g.l,mﬁ_-.uryé‘}-y" s pB a)
Sl alinayz £ LTzl Lrgd /M (Sheet-B)e 2 2Ei

(11x3=33)

(2x10=20)

®3)
3)

(33/.} l){ )ru >

:u:.d ..::Lb?u.é’-ﬁ_}:}%ka. cfé;lz (1 1):4&-":43)2‘.-&;{5_;»4;? Il'/f.Jl'r'

g prlure g OS5

g s

JA2F GAL e e

) v, =v,+at L
LRI I e, O3S 6 i Sl bL LS 150
LLfE b E LSS

- S S

LS A

LI I L SSL g By

LIy re SO LK 20000 e Ly He S50
S AL

LSS,

Aol A A VS S1B0 £, T

S Qer Sl 2 oSS Bt

W TP Aoy

@048 v o
(_uj.gf/./'.z):u:'lrrﬂ_éd' dlr‘ 3] c..(jf )

S=V,f+)éaz‘2 :“:)':},;J
-Q-"LJ»JJU‘-?&B;&J] U):W.;_/'}:ch;ﬁ

Fi'd e
:;ru;h 10070 ¥ 2yt

(4) .16 ms"-...EJ._-?—/’gmwdg)f;.:g,-’.,.av_f_»"r.-hfg;,fw{;g (ii) OV IR (i)

(4)
()

(4)
(3)

(3)

)

Physics Annual 2011

fe th_,y’r}'::_j' W e sl S 96 b’w::Ef:J’fu!}E
RS AN K17

LSS e B G028 3220 0§ 1 1) 2004 5 TSNy

‘.'..’_ l’.‘x'f_.’:;i;':; J-'-_"’;?L-::,.‘ ;’E_gﬁirv:u\}{: b4
Setwllert Gk
Lk S

ST £ Ay 250 1o £ S555S308 e KLl 1./ S0

= _r,,?,lv J}"‘"‘é)'.’d’t-— .‘f& lose lfré ;'T,F’d."‘? 194 ,f»,_/b K&E LT

== 18A-1107 (L)—v

(M
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(wiii)
(ix)
(x)
(xi)
(xii)
(xiil)
(xiv)

(xv)

26



Roll No. | l I | | Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:

I- o o) ol . (a3Y) 325
(15 4A5)J3l = 220 i

e LA S e sl p S X s S r L TR LSV kel L L it Lviog-Sili oF

.¢l-..ﬁ...1.jl62;..uf’ﬂ s SL e B 3 | bl 1S G 5wy 1Ay
s e F ot WEFhtt 0

Jug o Jty @ JoF - Jol o
e YUk EedSoc ' & i)

0 LoAGEF o Ol fSra L L

Ul iy e e &
......... prsredies” Gy

._):'ﬁfa.u: o0, -3 B! - 7/(6 i —— Gl |
\FUA e il W)

dbng o Jng & O Jei
Bl L iy (V)

tn o il A b Litquys e Y
ORI ARASI- U -SSR R - S ()

b <) 8 e & ok o L
oSS L sripis s F i)

SHT Y G 5 TR yooH
seyrtgrel Ao A i)

A o degat 2 g %
S LS B 2 IWLSgode ()

e o VA7 S {17 SO 1 O

(oo s _ FIF) SOl e JErdumEs ()
Lyt o LiugmSEe 2 Loy o Ly
e sSld Ul e ()

e Seltn -3 A0 R f
fe b sfuld " (i)

doi? = Jror - oot o Qﬂ o
S sl d R o e et (i)

H‘{! - ._'f"”(l B PP o " E— ;,w-' |
‘-'..T..y::..qul;" "'.-‘flzii..r)’f” (xiv)

S ketes o O R ) 1T S oz
St e s ARTOMntusr izt ()

STE) S A of Jos37? il

L1 A S o el
| — 1SA-1108 —

Urdu Annual 2011 27



I'Lﬁ“ M‘ uﬂﬁ‘ (U'.JY) _,.33‘

60 prosipns AF

(344 )n 2

(12x2=24) ez b EUspipe LLAT (1DuheLatints pur i)y
TEL)Ji;;fEfL&; e WES ()
S G LML i Lol e (i)
e FodLowSudie i)
spz Uiy Se LS S0EANe )
Se O 2 at B SOdverd i o il ()
e tple ek Le b aaba (Vi)
enpf§ree U3 U (i)
s § Ml (Vi)
G Res e gl ()
fur Jﬁ T8t SnFitets )
S OIS e it O EJFGIL Al ()
S 2 sOPLIL S 2 3 31 Qe PRy (i)
S UL U ONT 2 (i)
?ﬁf—-U/u{C/’J 2l S e b o:li..; (xiv)

(5x2=10) LS 8 e Metdtr v
7 S Ohectds Sl ()
o S o (i)

A =k ez i)
Lo mEWSIE I NS I e s (V)
bolge o b
B TS AR Iy AR
ey A
264 ro
(112+1/2+1+4=6) G CItp L Tenzs i P L sl Frosoe )y

J{qqgrii‘;wf:ﬂa;z,;wﬂ@uﬁ:,,dz £\ Lotk Becbon Bt Sl bnei s
ITI R R I P | GO I3 3 O8N L T
LI T e Flen S, S F T B o3 s AR

LBt et Frnie v ione iind Lo PR 0kl TRy AT <o
iff»"-u:-"'yi»'wéeu-ﬁd"' ;.uluﬁné;u:w'%_if’_éjﬁlmg!dﬁc_ Sl Sa3l
S EPET e A e ST

Page 1 of 2 (Urdu)

Urdu Annual 2011 28



(1/2+1/2+2+2=5) G P b STnzsdok P s
ef Jrd ol o cads ol L&y i
2T 2Lt E-;’? s Usbl L T A 2
UL s L3115 &8y et Wz
Lb;c_.. Jla o = I Vil ..J:J...ui.(';;.-i:fd:&s
(142+2=5) ZECF G2y L oz inz PP
B oS AR ot o VN7 2t o 5
G urde s Sy Euefie S un
I.d-l'&ru...:c-u.ﬁg/(tila-}f/ (‘E;,_I,JB'JJOJIL&;

JJFGWQT [3' > f- é ¥ é'#’ JbJ{,ﬁd:_JL—/;

(5) -;:'tz‘,tz_ng:ug,r,n;J.,. Lg-u:Lu‘:;_wquz.sf.;.—,,-;;_i
(5) LI LAl S end Ui
()]

G bWt e el o s P Tl e s G e

Lewt B P e L2 SRl OL Y o i Gt s FL T i
3 Bl ST o S0y e 5P Fe28 5006 L Qo L2 3 Iiv dbmy
e Ve Kb ¥ ahuiux eIl LIl KUF U caF VKR K e U K

MEM e w2 s Liny YS Nf BE ndvsbmie 1Si0e s AL 6
g

e Grern P Bl i

S -;L,;L;m’.?_.umu‘_}b:rurlg’

W Il gLy gL B gL S S e
e Sedd oL fole

-_dﬂu*i’b’aul.r‘w

—— 15A-1103 ——

Page 2 of 2 (Urdu)

Urdu Annual 2011

Iﬁ/:idl,f

NIy

Iy

te Ul

29



